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BRIGHTNESS FOCUS
ASTIGMATISM GRATICULE LIGHT BEAM
ROTATION
A B
DC AC
V() =V, V, = constant

Alternating-Current
Sinusoidal
V(t) = Asin(2xft) A f
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Q) Position
2 LEVEL
(©)) TRIGGER MODE AUTO
4) (120V or 220V) (
)
2.
(1) POWER 15 CRT
INTENSITY
(2) FOCUS INTENSITY
(3) (POSITION)
(4) SWP. VAR CAL
(5) CH1 CH2 VOLT/DIV CAL
(6) CH1 INPUT (x 10)
CAL 2V of 1 KHZ
@) CH1 VOLT/DIV 0.1v/DIV TRIGGER SOURCE
CH1 TIME/DIV
2V of 1 KHZ(
(x 10) 10 )
(8
TRACE
ROTATOR
9) (x1)
(1)
1. CH1 (Single-trace operation)
AC-GND-DC: AC
MODE CH1
TRIGGER MODE : AUTO
TRIGGER SOURCE : CH1



2BNC BNC CH1

1KHZ TIME/DIV ~ VOLTS/DIV
3. VOLT/DIV ~ TIME/DIV
( peak voltage Vp) ( peak to peak voltage Vp-p)

( effective voltage Veff)

VOLT/DIY = VOLT/en

SWEEP TIME/SDIV

Vp:( peak voltage): (Volt/DIV) x (a)
Vp-p:( peak to peak voltage )= x (b)
Vet :Vp/+/2
Frequency (HZ)=1/Time
Time= (c) x (TIME/DIV)
@)
1.AC-GND-DC AC AC
2.AC-GND-DC GND
3. AC-GND-DC DC DC =
X (+) (-)
4.
5. GND DC
T e £ o [V,
B mEV]
3 ( Lissgjous pattern )

1 Lissajous pattern
X Y



2. TIME/DIV X-Y CH1
3. CH1
4. CH1i CH2 VOLT/DIV
5.
[HZ]——><
P,:
P,:

(Ex:2V/DIV )
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Amplitude A

Pulse width 2 )
1
=A
(A )
rising time falling time
10 90
0.1A(1) 0.9A(3)
90 10
0.9A(4) 0.1A(6)
b/A (%) (Overshoot)
c/A(%) (Ringing)
tO

1:n = (tr)2 - (to)2

t

r

Duty Cycle

-
T=T,+T, Duty cycle:?H

TL

:

(6)
VCF INPUT



— )

Q) Excel,Origin
(t=0,1 step=0.01)

1.x=cos2rt 2. Xx=cos2rt
y=cos2r t y=sin2rt
3.Xx=cox2rt 4. x=co2rt
1. 1. /s
=—sin2at =—sn(2at+—
y=3 y=3 ( 4 )
5.x=cos2 nt 6. Xx=cos2r t
y=cos4 it y=sindrt
(2 trigger « )
(3 ? /
?
4 duty cycle? rising time? faling time?
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VOLT/DIV=

TIME/DIV=

Vp=

Vpp=

VOLT/DIV=

Lissagjous pattern
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(1)  Lissgous
2
6.
@ =2/3
(b) =1/2
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1) V(@)= 4sin(%t)

. T VA
(2) V(t) =3d n(gt +Z)

T, T
3 V(t):4COS(§t+§)

2. Lissajous
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